B RS REFETIES (FRHE) Hik THTE 108 38 (&)

ESed

o B &t E th = (& ==l ] =7 & = B

m H = b3

() A=) (M) (M) (M) (kg)

WA 32.6 JtiEE 32.5 2,376 1,728 1,404 10| MYa L
WA BRE 972 — 864 1 A M
IZALCA 13.6 JtiEE 13.0 2,376 — 2,160 10] Y19 M
mES) 5.9 BRE 4.4 — 383 — 1 A LL
[E<ELY 25.1 E % 24.9 4,320 - 3,780 15[ A 6
HT R 1.1 ERE 0.4 2592 — 2376 4 A M
—EDH 6.3 ERE 3.1 2,484 2,430 1,944 4 A M
FrRY 49.4 B E 44.2 1,415 1,188 972 10 vamy 8
FrRY =l 3.4 - 864 — 10 A 8
EF5SNAZS 1.1 = % — 259 — 0.15] A L
hE 5.3 e 3.3 3,888 3,402 3,240 5 3
_hE 1.2 & & 0.8 4,212 4,212 3,240 3 L
125 1.4 = I 0.5 5,400 4,590 4,320 5] Y1y
+)L)— 1.1 E % 1.1 3,240 2,808 2,484 10 A LL
TFARINTHR 0.8 B 0.1 - 108 - 0.2 S
Jowal)— 5.7
LR 21.2 £E % 13.5 2,808 2,376 1,620 10 A LL
LA £ K 4.8 2,592 2,376 2,052 10 A 12
ForoHA 1.2 ERE 0.5 3,240 3,024 1,836 4 A M
=pol) 14.6 N 9.0 3,780 3,024 2,700 5
=pol) B g 5.2 2,808 2,808 2,700 5, B M
NES S 5.2 JeiEE 5.2 2,916 2,106 1,890 10 A 5
75 4.1 ElE 0.8 1,944 1,944 1,080 5] B L
k< 10.3 EEES 6.3 - 2,419 B 4] B S
I=kThk 2.0 NI 0.8 3,888 - 3,780 3] A M
EF—<> 2.7 X 9 1.4 140 109 108 0.15] A M
E5EA2L
125 0.6 K IF 0.3 — 1,728 — 3 A LL
SPVAITA 0.4 ERE 0.4 3,456 2,700 2,592 A
MhALE 8.1 ERE 5.2 1512 1,404 1,296 5] A L
MAL& ERE 1,620 1,404 1,296 5] A M
IEhiL& 52.0 JtiEE 52.0 2,160 1,728 1,728 10] A L
IEhiL& JtiEE - 1,512 - 10 A M
=L 0.7 ERE 0.6 2,484 2,052 1,296 5
AL 4.6 JtiEE 42 - 3,996 — 10 M
f-EhE 35.6 JtiEE 35.6 4,860 4,860 4536 200 A L
HELLV=F 1.2 BERE 0.1 — 119 B 01] ™ L
ELLV=F £ % 0.5 194 — 173 025] M M
ZDEET 45 E B 3.1 38 — 35 0.1 A
ZDEET BRE 0.6 38 — 32 0.1 A
LoHL 1.9 s [E 1.4 97 73 73 0.2
FRIE 327.9
BE

o & B & E i = & f & =7 & = B

m H = O

) ATTE®) (M) (M) (M) (kg)

BN AN AET 16.0
B AR 15.6 ERE 6.3 2,160 - 1,944 10 A L
B AR BERE 2,700 2,592 2,376 10l A M
EESE ERE 2,700 - 2,592 0] A S
EESET] BE K 6.0 - - - PR L
B AR M FEES 2,592 2,160 1,620 10 M
AR N 2,700 2,160 1,944 10 S
LEY 2.3 F Y 0.2 - 7,020 - 17 115
INLUTT 6.1 El 6.1 3,888 - 2,160 17
JLT1LY 0.2 m7 7Y 0.2 5,400 5,400 4,752 15 50
YACE 9.2
2% 3.6 5 & 3.6 - 3,780 — 10[ Ya9A 36
2HhB g & 5,616 - 5,292 10]  FA 40
E 0.2 5 & 0.2 — 4,968 — 10] Y19 50
ZTDHYAZ 5.4 g & 3.6 5,184 4,752 4,644 10 MA 40
BALLE 4.0
0ne 1.0 = B8 1.0 - 4,536 - 10] 7hva1 3L
DAL 3.0 5 B 2.6 - 2,376 - 5| 7hva 4L
FEELGL 0.1 2 0.1 2,160 — 1,620 5[ ¥a19 13
hEEt 5.2
ANE4E 44 12 [ 4.4 — 2,484 B 75| 1% M
TEi%E 0.2
ZoHEIAE 0.5 12 @ 0.5 — 1,296 - 5] A 3L
ZDHELAE
SESE 2.2
=5 0.2 £ % 0.2 — 8,640 - 5[ va19 LL
EA—=* 0.3 i 0.2 — 6,264 - 5 9
<Y 0.3 =I5 0.2 1,080 — 972 1 3L
AOVE 1.6
7—JLR 1.1 BE X 0.5 2,916 - 2,592 5| 74va 3L
ZFRAOY 0.5 JeimE 0.4 6,480 6,480 5,400 gl 19
INTF 9.5 == 9.0 5,584 3,285 2,938 15
INMFyFTIL 3.1 EJEY 3.1 3,240 2,376 2,376 10 8
Fo47)LY 5.0 - 5.0 6,156 - 4,050 15 4
REHRE 65.2




